LKL HIE,

AR B R A

TN SIS AR T LA O8I0, iR RSl Sl & AT 201 520
AN HHEEMME, ATAE. AR HAEALSEZHETIANT/EAA 2021 4
11 3 HZHD #R SHA RRE S BN . BTG 57 B R AN AL, FAL
K A BB H A IR 55 2 BT B0 T

Gl 5 :

U T AR K ik - = Z AV )\ T H E
IV 13386394443 F T
5iie BRIN | AR | Aghr=apig G ks PIvee s BN FHi& #HIE

1 - 5 AL | BB B = £4#1410327005013JC00004|  127.44/ | Rk diy
B RFTE R i3] F00010001 68.04 fF8

) T FIHEHAT ALY | B E = 2 41[4103270050131C00005]  234.51/ | fAesiiy
BRI g F00010001 45.78 £

3 Ty FEEMAE ALY | BB E-= £4#410327005013JC00008|  324.26/ | A&k Ediy
FERFTE R i) F99990001 197.78 5

4 — =5 AL | BB B = £4#1410327005013JC00011|  241.05/ | &Afsiiy
P BT AL Lol F99990001 76.4 £

5 sap FEIEHAFE R | BIAE = 241(410327005013JC00012|  335.23/ | Akt
BRI g F99990001 214.42 {5

6 e =5 AL | BB B = £4#1410327005013JC00013|  317.85/ | &k diy
B RFTE R i3] F99990001 230.31 fF8

; s FRMAE R | B BB = £4#1410327005013JC00019|  219.97/ | &atEHHy
BRI [iga) F99990001 144.49 5

g P FEEMAE R | BB E-= £4#(410327005013JC00020|  344.17/ | &R Ediiy
B R T [Ega) F99990001 303.16 £

9 T FIHEHAT ALY | B E = £44(4103270050131C00021]  324.57/ | febresiy
FRFTE R R F99990001 323.73 3

10 o FEIEHAFE R | BIAE = 241(410327005013JC00022|  349.48/ | AckteHiy
BRI g F99990001 147.71 5

1 TR =5 AL | BB B = £4#1410327005013JC00023|  355.20/ | ARAESiy
B RFTE R g F99990001 244.08 fE

1 B FIEHAT ALY | B E = 241(4103270050131C00024|  373.25/ | KAty
= BRI [iga) F99990001 359.78 £

03 TR FEEMAE ALY | BB E-= £4#]410327005013JC00025|  501.03/ | &Afdiy
B R TR [Ega) F99990001 174.05 £

14 ity 2 FEIEHAF R | BIAE = £441(4103270050131C00026]  578.72/ | Akt Sy
B RFTE R gl F99990001 271.88 fE

15 ey FEEMAE ALY | BB = £4#410327005013JC00027|  464.41/ | kT EHiy
- BRI [Ega) F99990001 285.14 5

16 5k ﬁzggﬂﬁfiﬁﬁ$2/ BPAE = 241(4103270050131C00028|  222.18/ | Akt Hiiy
R i3] F99990001 102.51 fF8

17 S0 AT ALY | B E = 2 41(4103270050131C00029]  486.77/ | Aty
= BRI [iga) F99990001 285.2 5

18 T I IR | BBHE = £ 4410327005013JC00030(  288.69/ | RASEHEH/
B R FTE R g F99990001 281.31 5

1 LT FEIEHAF R | BIAE = £41(410327005013JC00031]|  270.43/ | Akt
R gl F99990001 269.2 fE3

20 50 FEIEHAFE R | BIAE = 241(4103270050131C00032|  274.27/ | Akt
= BRI g F00010001 514.69 £

21 5 FIHEHAS ALY | B EL= £44(4103270050131C00033]  275.08/ | febtEHEHy
" B RFTE R g F99990001 447.09 fE

2 P FIEHAT ALY | B E = 2 41(4103270050131C00034]  265.90/ | Aty
i BRI [iga) F99990001 307.58 £




93 - FEEMAE ALY | BB E-= £4#410327005013JC00035|  292.93/ | A&kt diiy
N B R TR g F99990001 268.23 £

24 e TR R | BB E = £ 44]410327005013JC00036|  204.66/ | AAEHHy
B RFTE R [Ega) F00010001 100.73 fE3

95 BT FIEHAT ALY | B E = £44(4103270050137C00037]  203.53/ | Kby
BRI [Ega) F00010001 38.94 £

2% Bl EIMAE AU | B FHE = £ 41]410327005013JC00040(  198.74/ | KA 5y
B RFTE R g F99990001 311.18 {52

27 f gt AT ALY | B E = 241[4103270050131C00041]  234.50/ | fAesiy
BRI [iga) F99990001 264.78 £

98 120 FIEHAT ALY | B FHEL= £44(4103270050131C00042]  195.60/ | febE S
B R HTE R [Ega) F99990001 256.12 {52

i - FIEHAT ALY | B E = £44(4103270050131C00043]  196.31/ | febesiih
B RFTE R gl F99990001 2499 fE3

30 e FEIEHAFE R | BIAE = 241(4103270050131C00044]  194.54/ | Achte sy
BRI g F99990001 145.69 £

31 2y FIHEHAT ALY | B EL= £44(4103270050131C00045] 192,71/ | febrEHiy
- R FTE R g F99990001 103.7 fE

1 e FIEHAT ALY | B E = 2 41[4103270050131C00046]  250.06/ | ATt
BRI g ) F99990001 160.28 £

13 T T AL | B FHE = £ 41]410327005013JC00047(  233.87/ [ RA MY
B R TR g F99990001 142.79 £

34 50 FIHEHAT ALY | B E = £44(4103270050131C00048]  214.01/ | fbreHiy
- R R gl F99990001 193.23 fE

15 T FEIEHAFE R | BIAE = 241(410327005013JC00049]|  249.32/ | Akt Hiiy
BRI [Ega) F99990001 309.28 £

36 o FIHEHAT ALY | B EL= £44(4103270050131C00050]  227.59/ | febrEHEHy
= R FTE R g F99990001 154.01 {52

37 B FIHEHAT ALY | B E = 2 41(4103270050131C00051]  233.58/ | Aty
BRI g F99990001 260.71 £

18 A FEEMAE R | BB E-= £4#]410327005013JC00052  257.24/ | Rk diy
B R TR g F99990001 433.96 £

39 Soys BT AR | 2 FHE = 24 [410327005013JC00056  210.68/ | AAT T K4/
B RFTE R gl F99990001 84.69 fE3

40 - FIEHAT ALY | B E = £44(4103270050137C00057|  218.99/ | KA Hiy
BRI [Ega) F99990001 147.11 {53

41 e 5 AL | BB B = £4#1410327005013JC00058|  209.04/ | kTS
B RFTE R g F99990001 277.82 fE

4 T FIHEHAT AL | B E = 2 41[4103270050131C00065]  210.14/ | fAresiy
BRI [iga) F99990001 143.17 £

4 Tk FIEHAT R | BFHEL= £44(4103270050131C00066]  212.77/ | febrEHHy
- B R TR [Ega) F99990001 209.15 £

a4 S FIHEHAT ALY | B E = £44(4103270050131C00067|  206.37/ | Aehe s
: R gl F99990001 166.55 fE3

45 - FEIEHFE R | BIAE = 2 41(410327005013JC00068]  210.51/ | Akt sy
BRI g F99990001 237.93 £

16 LA %gﬂ@@ﬂ%ﬁ/ BPAE = 2 441(410327005013JC00070|  329.52/ | AcAteHiiy
B RFTE R i3] F99990001 235.13 fF8

47 TUE FIHEHAT AL | B E = 2 41(4103270050131C00071]  203.76/ | Attty
BRI g ) F99990001 152.75 £

48 T FEEMAE ALY | BB E-= £4#410327005013JC00072[  209.91/ | &kfediiy
B R TR g F00010001 94 .45 5

49 P FIHEHAT ALY | B E = £44(4103270050131C00073]  203.08/ | AhEHEH
* R R gl F00010001 102.97 fE3

50 e FIEHAT ALY | B FHE = £44(4103270050131C00074]  201.86/ | AehtEHi
BRI [Ega) F00010001 91.53 £




st Tagy ERHE B | B AR = 241(410327005013JC00075]  207.32/ | KATEIEHY
R ity 5} F99990001 197.94 fE2

5 o FIHEHAT ALY | B E = £44(4103270050131C00076]  205.50/ | AehE S
R ity o) F99990001 131.91 {52

53 e BRME B | B IAE = 248 (410327005013JC00077|  204.58/ | Aht I
R iy o) F99990001 260.19 {52

4 . ERHF AR | BIAE = 241(410327005013JC00078|  204.38/ | KA EIEHY
R R ity a) F99990001 132.59 {52

55 e FIHEHAT ALY | B0 E = 2 41(4103270050131C00080]  205.08/ | ATty
R TA L iy o) F99990001 141.15 fE32

56 mapyy | ERREABU) EPEE = 2 5114103270050131C00082 20391/ A B S
R ity u) F99990001 122.12 £

57 e BT AR | 2 FHE = 24 [410327005013JC00083  203.92/ | A B4/
B R FTE AL iy F99990001 113.97 £

58 . FEIEHAFE R | BIAE = 241(410327005013JC00086]  206.48/ | Akt H iy
R ity o) F99990001 143.37 {52

so T, ERHF AR | BIAE = 241(410327005013JC00087|  204.85/ | AKATHEIEHY
R R ity ) F99990001 149.18 {Ez2

60 5 FEIHEHAT ALY | B0 E = 2 41[4103270050131C00088]  204.92/ | KAty
R ITA L iy o) F99990001 157.94 fE32

61 g ERHE B | B HE = 2 41(410327005013JC00089]  203.80/ | AT I M
R ity u) F99990001 270.89 {52

0 - FEHME ALY | BB E = £4£410327005013JC00091|  204.11/ | RATE R
R R ity o) F00010001 64.69 {52

63 4 BRME B | B IAE = 244 (410327005013JC00092|  208.55/ | AAt I/
R iy o) F99990001 269.5 {52

64 5 ERHF AR | BAE = 241(410327005013JC00093]|  208.69/ | AAT I M/
R R ity a) F99990001 178.41 £

65 TEH M ALY | B BB = 248 |410327005013JC00094|  208.26/ | AT M/
R ITA L iy o) F99990001 194.91 £

66 T, ERHE B | B HE = 2 41(410327005013JC00095|  207.80/ | AT I HY
= R R T ity u) F99990001 117.63 {52

67 S FEIEHAF R | BAE = £ 41(4103270050131C00097|  207.45/ | Aktesiy
R ity o) F99990001 140.33 {52

68 TR ML R | BB = £44]410327005013JC00099|  208.84/ | RATEHLH/
R iy o) F99990001 297.45 {52

60 Py 3R | &P E = 244 410327005013JC00100|  209.12/ | feAtz iy
B RFTE R i3] F99990001 295.94 fF8

0 T FIEHAT ALY | B E = 2 41(4103270050131C00101]  209.47/ | fbhesiy
R TA L iy o) F99990001 272.11 £

- 5 ERHE B | BAE = 241(410327005013JC00102]  210.07/ | KATEIEHY
R ity u) F99990001 136.57 {52

7 e FEIEHAF R | BIAE = £41(410327005013JC00103]  225.21/ | Aektesiy
R ity o) F99990001 161.43 {52

7 i FEIEHAFE R | BIAE = 241(410327005013JC00104]|  210.34/ | Akt
R ity o) F99990001 188.11 £

74 o %gﬂ@@ﬂ%ﬁ/ HIAE= 244 (410327005013JC00105| 20829/ | &&kf =3y
B RFTE R i3] F99990001 253.46 fF8

75 Gk FIHEHAT AL | B E = 241(4103270050131C00106]  207.01/ | AAresty
R ITA L iy o) F00010001 90.53 {52

76 Tam EHME Y| T PHE = 244 ]410327005013JC00107|  274.64/ | AT FHy
R ity u) F99990001 188.76 {52

- . FIHEHAT ALY | B E = £44(4103270050131C00108]  285.09/ | Kbt HEH
R R ity o) F99990001 201.83 {52

78 sy FIEHAT ALY | B FHE = £44(4103270050131C00109]  206.58/ | A Hi
= R iy o) F99990001 316.12 £




70 - FIEHAT ALY | BFHEL= £44(410327005013JC00111]  205.63/ | fehtEHH
7S B R TR g F99990001 171.58 £

%0 - FEIEHAF R | BAE = £ 41(410327005013JC00112]  206.61/ | Acht=eHihy
RFTE R T F99990001 171.12 3

81 o FEIEHAFE R | BIAE = 241(410327005013JC00113]  204.17/ | Akt sy
BRI [Ega) F99990001 216.28 £

% ST EREHAE AU | BB = £ 48]410327005013JC00114]  204.71/ | RAT B/
B RFTE R i3] F99990001 186.19 fF8

g3 S FIHEHAT ALY | B E = 2 41(4103270050131C00115]  205.25/ | Kty
BRI [iga) F99990001 172.16 5

84 R B AE ALY | BB = £ 48(410327005013JC00116]  206.27/ | ARF B/
3 B R HTE R [Ega) F99990001 273.47 £

g5 T FIHEHAT ALY | B E = £44(4103270050131C00117]  206.70/ | fehteHi
P BT AL Lol F00010001 49.84 £

%6 TuE FIEHAT ALY | B FHE = £44(4103270050137C00118]  209.70/ | RehteHE
= BRI g F99990001 78.71 £

&7 bk FIHEHAT ALY | B EL= £44(4103270050131C00120]  203.60/ | fbtEHE
B RFTE R i3] F99990001 296.37 fF8

%8 e FIEHAT AL | B E = 241(4103270050137C00121]  201.20/ | KAresty
BRI g ) F99990001 142.71 5

%9 e FEEMAE R | BB = £4#]410327005013JC00123|  321.76/ | &k Ediiy
7 B R TR g F99990001 333.59 £

%0 R FIHEHAT ALY | B E = £44(4103270050131C00124]  296.86/ | AehtE S
R R gl F00010001 229.52 fE

o1 BouE FEIEHAF R | BIAE = 241(410327005013JC00125|  264.84/ | Akt Sy
= BRI [Ega) F99990001 445.92 5

0 P 5 AL | BB = £4#1410327005013JC00126|  262.56/ | A&k Ediiy
R FTE R g F99990001 272.14 {52

03 T AT ALY | B E = 241(4103270050137C00127]  189.24/ | KAty
BRI g F99990001 109.61 £

o4 Jpesar FEEMAE R | BB = £4#410327005013JC00128|  167.91/ | &AfEdiiy
B R TR g F99990001 111.32 5

05 TWE FEIEHAF R | BAE = £41(4103270050131C00130|  177.48/ | Ackt=esiiy
B RFTE R gl F99990001 111.66 fE3

06 v FIEHAT ALY | B E = £44(4103270050137C00132]  191.37/ | KAty
BRI [Ega) F99990001 271.79 £

o7 Tmp 5 AL | BB B = £4#1410327005013JC00133|  198.17/ | &k diy
- B RFTE R i3] F99990001 279.59 fF8

08 T FIEHAT ALY | B E = 241(4103270050131C00134]  200.38/ | Aty
BRI [iga) F99990001 265.48 £

09 S FEEMAE R | BB = £4#]410327005013JC00135  218.42/ | KA Ediiy
= B R TR [Ega) F99990001 146.48 £

100 s FEIEHAF R | BIAE = £ 41(4103270050131C00136]  223.62/ | Akt Hiiy
R gl F99990001 335.71 fE3

101 i FEIEHAFE R | IR = 241(4103270050131C00137|  221.79/ | AchteHiy
. BRI g F99990001 341.85 £

102 2 FIHEHAT ALY | B EL= £44(4103270050131C00138]  241.30/ | fbrEHHy
B RFTE R g F99990001 24474 2

103 kb FIEHAT ALY | B E = 241(4103270050131C00139]  231.93/ | KAtesiiy
BRI g ) F99990001 236.31 £

104 e FEEMAE R | BB E-= £4#]410327005013JC00140|  215.28/ | KA Ediy
B R TR g F99990001 227.48 £

105 S FIHEHAT ALY | B E = £44(4103270050131C00141]  218.95/ | febeHii
R R gl F99990001 168.45 fE3

106 BT FEIEHAF R | BIAE = 241(410327005013]C00142  218.84/ | Akt Hiy
BRI [Ega) F99990001 244.16 5




17 Sl FEEMAE R | BB E-= £4#(410327005013JC00143|  225.29/ | &k diy
B R TR g F99990001 156.33 £

108 ] FIHEHAT ALY | B E = £44(4103270050131C00146]  203.76/ | Aehte S
DR BT [ F99990001 212.44 g

109 e FIEHAT ALY | B E = £44(4103270050137C00147]  203.38/ | KAt Hiy
BRI [Ega) F99990001 209.84 £

110 51 11 5 AL | BB B = £4#1410327005013JC00148|  203.52/ | &k diy
N B RFTE R g F00010001 264.74 3

1 SR FIEHAT AL | B E = 241(4103270050131C00149]  202.71/ | KAresiy
BRI [iga) F99990001 170.9 £

113 Eer, FEEMAE R | BB = £4#(410327005013JC00152|  203.47/ | &Afediiy
B R HTE R [Ega) F99990001 128.66 £

13 R FIHEHAT ALY | B E = £44(4103270050131C00153]  203.53/ | fbresiiy
DR BT [ F99990001 123.54 g

114 B FEIEHAF R | BIAE = 241(410327005013JC00154]  203.44/ | Achtesiy
BRI g F99990001 75.33 £

115 R 5 AL | BB B = £4#1410327005013JC00155)  204.56/ | A&k Ediy
B RFTE R i3] F99990001 207.84 fF8

116 TR FIHEHAT ALY | B E = 241[4103270050131C00156]  206.15/ | Aty
> BRI g ) F99990001 199.09 £

117 o FIEHAT ALY | BFHEL= £44(41032700501371C00157]  208.97/ | fehEHEH
B R TR g F99990001 212.52 5

118 ey BT AR | 2 FHE = £4(410327005013JC00158(  200.14/ | A 54/
R FTA AL R F99990001 197.48 3

119 s FEIEHAFE R | BIAE = 241(410327005013JC00159]  199.42/ | Akt sy
BRI [Ega) F99990001 180.43 £

120 ey | EIEMUEFIRY [ B = 2 41]410327005013JC00160)  199.44/ | A 5y

ZEFAFA -

P = FTA AL il F99990001 227.54 £

121 P FIEHAT ALY | B0 E = 241(4103270050131C00164]  200.58/ | AAtesty
BRI g F99990001 168.92 £

12 G b FEEMAE R | BB E-= £4#]410327005013JC00165|  201.00/ | &Rk 5ty
i BT L [ F99990001 160.44 EE

123 5 4 FIHEHAT ALY | B E = £44(4103270050131C00166]  201.39/ | fbeHii/
B RFTE R gl F99990001 24451 fE3

124 o FEIEHAFE R | BIAE = 2 41(410327005013JC00167|  199.51/ | Akt sy
BRI [Ega) F99990001 153.1 5

125 sy FIHEHAT AL | B EL= £44(4103270050131C00168]  199.57/ | fehtEHEH
z B RFTE R i3] F99990001 241.53 fF8

126 " FIEHAT ALY | B E = 241(4103270050131C00169]  199.48/ | &bttty
BRI [iga) F99990001 388.26 £

127 Tk FEEMAE ALY | BB E-= £4#(410327005013JC00170[  207.23/ | KA ediiy
i BT L [ F99990001 317.94 £

128 T FIHEHAT ALY | B E = £44(4103270050131C00171]  203.05/ | febesi
R gl F99990001 153.53 fE3

129 FUA IS ALY | B E = £44(4103270050137C00172]  202.39/ | KAy
BRI g F99990001 152.21 5

130 e %gﬂ@@ﬂ%ﬁ/ BPAE = 241(410327005013JC00173|  204.44/ | AeAtesiy
- B RFTE R i3] F99990001 157.39 fF8

131 2 M FIEHAT ALY | B E = 241(4103270050131C00174]  206.16/ | Aty
BRI g ) F99990001 154.81 5

133 T EEHAE FIAY | BB = 24]4103270050131C00175|  206.03/ | Akt R/
i G R BT AL i) F99990001 219.48 {52

133 e FIHEHAT ALY | B E = £44(4103270050131C00176]  204.88/ | AehteHiih/
DR BT AL [ F99990001 253.64 g

134 75 FIEHAT ALY | B FHE = £44(4103270050137C00177]  203.39/ | KAy
BRI [Ega) F99990001 227.35 £




135 it FEEMAE R | BB E-= £4#(410327005013JC00178|  203.23/ | KA Ediy
B R TR g F99990001 203.55 £

136 2 FIHEHAT ALY | B E = £44(4103270050131C00179]  204.03/ | fbeHi
= B RFTE R [Ega) F99990001 260.03 fE3

137 54 FIEHAT ALY | B E = £44(4103270050137C00180]  205.30/ | KA HEHy
BRI [Ega) F99990001 282.61 5

138 e FIHEHAT ALY | B EL= £44(4103270050131C00181]  203.95/ | fbrEHEHy
= B RFTE R g F99990001 22121 {52

139 T THHAE FIAY | B PHE = 2 41410327005013]JC00182(  270.23/ | AT HEHY
= BRI [iga) F99990001 100.25 £

140 2T BEMAE AR | 2 FHE = 24 (410327005013JC00183[  266.80/ | A4S K/
= B R HTE R [Ega) F99990001 294.79 £

141 547 FIEHAT ALY | B E = £44(4103270050131C00184]  266.00/ | AehtEHEH/
B RFTE R gl F99990001 198.37 fE3

142 E FIEHAT ALY | B FHE = £44(4103270050137C00185]  267.80/ | AhEHEH
BRI g F99990001 229.07 £

143 Ty FIHEHAT ALY | B EL= £44(4103270050131C00186]  212.76/ | AehEHE
- B RFTE R i3] F00010001 203.74 fF8

144 K FIHEHAT ALY | B E = 241(4103270050137C00187]  213.09/ | KAesiy
" BRI g ) F99990001 191.27 5

145 A FEEMAE R | BB = £4#]410327005013JC00188|  211.32/ | KA Ediiy
FERFTE R i) F99990001 227.9 {52

146 EEA FEIEHAF R | BAE = £ 441(410327005013JC00189]  209.10/ | Acht=eH i/
R R gl F99990001 191.05 fE

147 Er FEIEHAFE R | BIAE = 2 41(410327005013JC00190|  252.46/ | AchteHiy
BRI [Ega) F99990001 294.5 £

148 ayr s 5 AL | BB B = £4#1410327005013JC00191|  253.46/ | Rk diy
- B RFTE R i3] F99990001 303.15 fF8

149 B AT ALY | B0 E = 241(4103270050131C00192]  255.84/ | Aty
BRI g F99990001 246.69 £

150 ey FEEMAE R | BB E-= £4#(410327005013JC00193|  206.54/ | &AfEsiy
B R TR g F99990001 202.64 5

151 o FIHEHAT ALY | B E = £44(4103270050131C00199]  201.85/ | AehteHiih/
RFTE R R F99990001 261.25 3

153 e FEIEHAFE R | BIAE = 2 41(410327005013JC00200]  300.54/ | Akt sy
> BRI [Ega) F99990001 265.6 £

153 AT 5 AL | BB B = £4#1410327005013JC00201|  299.11/ | &kfsiy
B RFTE R i3] F99990001 2313 fF8

154 -~ AT ALY | B E = 2 41(4103270050137C00202]  203.23/ | KATesiy
BRI [iga) F99990001 259.24 5

155 0 FEEMAE R | BB E-= £4#(410327005013JC00203  203.18/ | &k diiy
B R TR [Ega) F99990001 217.97 £

156 ST FIHEHAT ALY | B E = £44(4103270050131C00205]  202.56/ | AehE S
R gl F99990001 152.42 fE3

157 S FIEHAT ALY | B FHE = £44(4103270050131C00206]  201.65/ | RbeHi
: BRI g F99990001 128.97 £

158 — %gﬂ@@ﬂ%ﬁ/ BPAE = 241(4103270050131C00207|  204.27/ | AAteHiy
B RFTE R i3] F99990001 267.33 fF8

159 g FEIHEHAT ALY | B E = 241(4103270050131C00208]  205.70/ | KAty
BRI g ) F99990001 145.08 £

160 R FIEHAT ALY | B EL= £44(4103270050131C00209]  206.95/ | febtEHEHy
FHIRFTERL [N F99990001 331.32 {52

161 oy | TR EPEE S 2 5114103270050131C00212|  204.63/ A B 2k ity
S B R FTE AL T F99990001 191.57 5

162 ] FEIEHAF R | BIAE = 241(410327005013JC00213]  204.19/ | Akt sy
BRI [Ega) F99990001 224.93 £




163 P FEEMAE R | BB = £4#(410327005013JC00214  206.15/ | &k ediy
B R TR g F99990001 219.91 5

164 gy FEIEHAF R | BAE = £41(4103270050131C00215]  206.52/ | Akt siiy
DR BT [ F99990001 236.24 g

165 o FEIEHAFE R | BIAE = 241(410327005013JC00216]  203.48/ | Akt Hy
BRI [Ega) F99990001 272.85 £

166 SR 5 AL | BB = £4#410327005013JC00217  205.31/ | &Rk diiy
B RFTE R i3] F99990001 168.17 fF8

167 . FIEHAT ALY | B E = 241(4103270050131C00218]  204.72/ | KAesiy
BRI [iga) F99990001 156.09 £

168 S FIEHAT R | BFHEL= £44(4103270050131C00219]  205.57/ | febrEHEHy
B R HTE R [Ega) F99990001 233.69 £

169 2305 BT AR | B FHE = £4[410327005013JC00221(  204.71/ | A EH:H/
B RFTE R gl F99990001 272.98 fE3

170 R FEIEHAF R | BIAE = 241(4103270050131C00222  214.36/ | Akt Hiiy
BRI g F99990001 336.44 5

171 T R AL | BB B = £4#1410327005013JC00223  203.10/ | RAfsiy
= R FTE R g F99990001 266.63 fE

11 Tt AT ALY | B E = 241(4103270050131C00224]  203.52/ | KAresiy
BRI g ) F99990001 260.03 £

73 o FEEMAE R | BB = £4#(410327005013JC00225  204.66/ | A&kt Ediy
- B R TR g F99990001 99.09 £

174 pa— FEIEHAF R | BIAE = £41(4103270050131C00226]  205.71/ | Akt sy
R R gl F99990001 311.68 fE

175 SAER FEIEHAFE ALY | BIAE = 241(4103270050131C00227|  204.10/ | Achte sy
BRI [Ega) F99990001 257.62 £

176 S, 5 AL | BB B = £4#1410327005013JC00228|  202.88/ | A&Af sy
B RFTE R i3] F00010001 84.52 fF8

177 o FIEHAT ALY | B E = 241(4103270050131C00229]  204.54/ | fhesiy
BRI g F99990001 143.98 £

178 g FIEHAT ALY | B FHEL= £44(4103270050131C00230]  205.07/ | fbrEHEHy
B R TR g F99990001 260.76 £

179 oy FIHEHAT ALY | B E = £44(4103270050131C00231]  203.75/ | febresiy
B RFTE R gl F99990001 162.23 fE3

180 e FIEHAT ALY | B FHE = £44(4103270050137C00232]  203.03/ | KA
¢ R ATE R iy F99990001 257.83 5

181 P FIHEHAT ALY | B EL= £44(4103270050137C00233]  205.03/ | fbrEHEHy
: B RFTE R i3] F99990001 33736 fF8

182 e FIHEHAT AL | B E = 2 41[4103270050137C00235]  205.30/ | KAty
BRI [iga) F99990001 260.79 £

183 S FIEHAT ALY | B FHEL= £44(4103270050131C00236]  244.53/ | fbrEHEHy
B R TR [Ega) F99990001 251.28 5

184 i FEIEHAF R | BIAE = £41(4103270050131C00237|  242.54/ | Akt esiy
B R R P F99990001 136 1%

185 St FEIEHAFE R | BIAE = 241(4103270050131C00239|  244.94/ | Akt sy
= BRI g F99990001 171.95 £

186 syn FIHEHAT ALY | B EL= £44(4103270050131C00240]  245.73/ | KbrEHEHy
B RFTE R g F99990001 305.4 fE

187 iy AT ALY | B0 E = 241(4103270050131C00241]  246.89/ | KAty
BRI g ) F99990001 181.54 5

188 G FEEMAE R | BB E-= £4#(410327005013JC00242  246.01/ | &k Ediy
B R TR g F99990001 292.45 5

129 S FIHEHAT ALY | B E = £44(4103270050131C00243]  246.51/ | fbresiy
R R gl F99990001 291.67 fE3

190 B FEIEHAF R | BIAE = 241(4103270050131C00244]  244.57/ | Aektesiy
ANEER R Pk F99990001 263.23 2




191 pa FIEHAT ALY | BFHEL= £44(4103270050131C00245]  244.03/ | fbrEHEHy
N 5 B BT AL iy F99990001 272.6 {52

192 . FIHEHAT ALY | B E = £44(4103270050131C00246]  252.80/ | AehE S
B RFTE R [Ega) F99990001 249.76 fE3

193 o FEIEHFE R | BIAE = 241(4103270050131C00247|  221.63/ | Achtesiy
BRI [Ega) F99990001 307.07 £

194 S R AL | BB = £4#410327005013JC00248|  218.02/ | &k siy
- B RFTE R i3] F99990001 282.89 fF8

195 —— IS AL | B E = 2 41(4103270050131C00249]  304.59/ | KAty
BRI [iga) F99990001 350.17 £

196 Ty | TR EEEE S 2 5114103270050131C00250 20434/ AK B
a BRI R iy F99990001 256.88 5

197 Tia LI IR | BBHE = 2 48(410327005013JC00252(  203.59/ | KA B/
B RFTE R gl F99990001 165.63 fE3

168 ST FIEHAT ALY | B E = £44(4103270050131C00253]  207.79/ | KAy
BRI g F00010001 265.52 £

199 EITE FIHEHAT ALY | B EL= £44(4103270050131C00254]  216.59/ | febrEHHy
= B RFTE R i3] F99990001 149.03 fF8

200 K FIEHAT ALY | B E = 241(4103270050131C00256]  213.44/ | fAtesiy
BRI g ) F99990001 150.4 5

201 S FIEHAT ALY | BFHEL= £44(4103270050137C00257]  210.37/ | Kby
B R TR g F99990001 314.33 £

202 ke FEIEHAF R | BIAE = £ 41(4103270050131C00259]  203.64/ | AckteHiiy
R R gl F99990001 155.25 fE

203 5 4 FIEHAT ALY | B FHE = £44(4103270050137C00263]  204.79/ | RSy
i BRI [Ega) F99990001 252.98 £

204 [ 5 AL | BB B = £4#1410327005013JC00265  209.04/ | AT ESiy
: B RFTE R i3] F99990001 158.65 fF8

205 Eryn FIEHAT ALY | B E = 2 41[4103270050131C00266]  209.00/ | A AEsE
BRI g F99990001 214.35 £

206 e FEEMAE R | BB E-= £4#410327005013JC00267  205.82/ | A&k Ediiy
- B R TR g F99990001 160.29 £

207 pE FIHEHAT ALY | B E = £44(4103270050131C00268]  207.76/ | AehE Sy
B RFTE R gl F99990001 143.7 fE3

208 o FEIEHAFE R | BIAE = 241(4103270050131C00270]  207.14/ | Akt
BRI [Ega) F99990001 178.31 £

209 I 5 AL | BB = £4#1410327005013JC00274]  204.26/ | Rk Esiy
- 55 B AT AL [ii5) F00010001 62 £

210 SR AT ALY | B E = 241(4103270050131C00276]  202.22/ | KAesiiy
BRI [iga) F99990001 164.68 £

211 T FEEMAE ALY | BB E-= £4#410327005013JC00277|  202.00/ | A&k Ediy
B R TR [Ega) F99990001 164.87 £

212 e FEIEHAF R | BIAE = £ 41(4103270050131C00278]  203.32/ | Akt siy
R gl F99990001 167.47 fE3

213 TR FIEHAT ALY | BB = £44(4103270050137C00279]  204.36/ | RAtEEEHy
BRI g F99990001 179.58 £

214 o =5 AL | BB B = £4#1410327005013JC00280  203.52/ | A&kAfEdiy
B RFTE R i3] F99990001 261.79 fF8

215 Eo— AT ALY | B E = 241(4103270050137C00281]  202.70/ | KAesiy
BRI g ) F99990001 278.95 £

216 TRl FIEHAT ALY | BFHEL= £44(4103270050137C00282]  207.98/ | AbEHEHy
= B R TR g F99990001 172.12 {52

217 oy BT AR | B FHE = £ 4[410327005013JC00283[  209.46/ | AAy KL Hh/
R R gl F99990001 193.95 fE3

218 o, FEIEHAF R | BIAE = 241(4103270050131C00284]  206.31/ | Akt Hiy
BRI [Ega) F99990001 171.95 £




219 R FIEHAT ALY | BFHEL= £44(4103270050137C00285]  207.69/ | AehE S
B R TR g F99990001 329.18 5

220 g FIHEHAT ALY | B E = £44(4103270050131C00287]  205.85/ | AehE S
B RFTE R [Ega) F99990001 365.85 fE3

921 [T FEIEHAFE R | BIAE = 241(4103270050131C00288]  205.71/ | Akt Hiy
BRI [Ega) F99990001 176.08 £

99 W 5 AL | BB = £4#1410327005013JC00289|  206.22/ | A&k diy
- B RFTE R i3] F99990001 276.56 fF8

273 o FIHEHAT ALY | B E = 2 41(4103270050131C00290]  204.77/ | AAesiy
BRI [iga) F00010001 96.02 £

224 gt FIEHAT R | BFHEL= £44(4103270050137C00292]  203.37/ | KbrEHEHy
- B R HTE R [Ega) F99990001 278.46 £

225 R FEIEHAF R | BIAE = £ 41(4103270050131C00293]  202.18/ | Akt Hiihy
B RFTE R gl F99990001 278.83 fE3

296 s FEIEHAF R | BIAE = 241(4103270050131C00294]  201.64/ | Akt sy
= BRI g F99990001 124.07 £

97 a5k R AL | BB B = £4#1410327005013JC00295  206.11/ | &Afdiiy
B RFTE R i3] F99990001 154.61 fF8

293 PP AT ALY | B E = 241(4103270050131C00296]  252.19/ | KAty
BRI g ) F99990001 478.04 £

279 o | ERHLEARU) R = 24511 4103270050131C00298|  239.78/ AK B
- B R TR g F99990001 325.82 5

230 Ko FIHEHAT ALY | B E = £44(4103270050131C00300]  205.93/ | febEHi
R FTA AL R F99990001 252.82 3

231 Tk FIEHAT ALY | B FHE = £44(4103270050137C00301]  205.08/ | A HEy
- BRI [Ega) F99990001 200.6 £

232 TR FIHEHAT ALY | B EL= £44(4103270050131C00302]  203.85/ | AehtEHLHy
B RFTE R i3] F99990001 210.27 fF8

233 - AT ALY | B0 E = 2 41(4103270050131C00304]  199.89/ | KAttt
BRI g F99990001 236.9 £

234 - FIEHAT ALY | B FHEL= £44(4103270050137C00305]  198.88/ | AehtEHEH
B R TR g F99990001 119.11 5

235 Tk EIEMAE A | B FHE = £ 41]410327005013JC00306(  208.38/ | AR Ry
B RFTE R gl F99990001 239.1 fE3

236 oy FIEHAT ALY | B E = £44(4103270050131C00307]  207.58/ | AbtEsiy
= BRI [Ega) F99990001 256.66 £

937 g BT B | B FHE = 24 (410327005013JC00308(  209.67/ | AAT B Hh/
B 55 B AT AL [ii5) F99990001 259 £

238 o FIEHAT ALY | B E = 241[4103270050131C00309]  204.74/ | Ahesiy
BRI [iga) F99990001 148.15 £

239 — FEEMAE ALY | BB E-= £4#(410327005013JC00310[  206.01/ | &k sty
B R TR [Ega) F99990001 105.2 5

240 Foeg FIHEHAT ALY | B E = £44(4103270050131C00311]  204.28/ | febeHii
R gl F99990001 137.76 fE3

241 B FEIEHAF R | BIAE = 241(410327005013JC00312|  204.64/ | Akt Hiiy
BRI g F99990001 129.04 5

242 T 5 AL | BB B = £4#1410327005013JC00313|  204.64/ | KA Ediy
B RFTE R i3] F99990001 130.73 fF8

243 - FIHEHAT ALY | B E = 241(4103270050131C00314]  206.55/ | Aty
BRI g ) F99990001 165.14 5

244 27 BT AR | 2 FHE = 24 [410327005013JC00315[  208.94/ | A B/
= B R TR g F99990001 227.53 £

245 - FEIEHAF R | BAE = £41(410327005013JC00316]  207.43/ | Acktesiy
DR BT AL [ F99990001 251.14 g

246 K FEIEHAF R | BIAE = 241(410327005013JC00317|  210.74/ | Achtesiy
H BRI [Ega) F99990001 253.01 £




247 AR FEEMAE R | BB E-= £4#(410327005013JC00318|  217.11/ | RAfEdiiy
B R TR g F99990001 142.29 5

243 A FIHEHAT ALY | B E = £44(4103270050131C00319]  209.37/ | febieHi
B RFTE R [Ega) F99990001 248.2 fE3

249 o FIEHAT ALY | B FHE = £44(4103270050137C00320]  209.33/ | ATy
BRI [Ega) F99990001 284.47 5

250 o R AL | BB B = £4#410327005013JC00321  209.26/ | &k diy
B RFTE R i3] F99990001 2503 fF8

951 o FIHEHAT ALY | B E = 2 41(4103270050137C00322]  209.39/ | KAty
: BRI [iga) F99990001 87.25 £

952 P FEEMAE R | BB E-= £4#(410327005013JC00323  210.71/ | Rk ediiy
B R HTE R [Ega) F99990001 266.21 5

953 s FIHEHAT ALY | B E = £44(4103270050131C00324]  210.73/ | Kbresiy
B R R P F99990001 92.41 1%

954 o FIEHAT ALY | B E = £44(4103270050137C00325]  210.93/ | KAy
BRI g F99990001 101.75 £

955 Ve FIHEHAT ALY | B EL= £44(4103270050131C00327]  208.07/ | AbtEHEHy
= B RFTE R i3] F99990001 179.1 fF8

256 s FIEHAT AL | B E = 241(4103270050137C00328]  202.39/ | KATesiy
" BRI g ) F99990001 244.75 £

257 557 FEEMAE R | BB = £4#(410327005013JC00329|  203.47/ | KA Esiy
- FHIRFTERL (i) F99990001 325 F38

953 T = 5 AL | BB = £4#1410327005013JC00330[  204.21/ | R diiy
R R gl F99990001 243.22 fE

259 SR FEEMAE R | BB = £4#]410327005013JC00331|  203.74/ | R eHiy
BRI [Ega) F99990001 242.68 £

260 o TR EIEE S £ 5114103270050131C00332| 20348/ A A
A R FTE R g F99990001 168.87 fE

261 . FIEHAT ALY | B E = 2 41(4103270050137C00333]  207.86/ | KAty
BRI g F99990001 232.23 5

262 KA FIEHAT ALY | BFHEL= £44(4103270050137C00335]  211.58/ | febrEHii
i BT L [ F99990001 226.54 EE

263 5 FEIEHAF R | BAE = £441(4103270050131C00336]  210.18/ | Ackt=eHiy
B RFTE R gl F99990001 239.89 fE3

264 TuR FIEHAT ALY | B E = £44(4103270050137C00337]  209.85/ | KehEHi
= BRI [Ega) F99990001 232.81 5

265 . FIHEHAT ALY | B EL= £44(4103270050131C00338]  208.93/ | fehEHL
B RFTE R i3] F99990001 252.65 fF8

266 K FIEHAT AL | B E = 2 41(4103270050137C00339]  210.63/ | KAtesiy
i 2 R T AL ik o) F99990001 208.06 £

267 — FIEHAT R | B FHEL= £44(4103270050137C00340]  210.97/ | Kby
v R FTE R iy F99990001 141.11 £

268 i FEIEHAF R | BIAE = £41(410327005013JC00341]  238.20/ | Akt Hiiy
FRFTE R R F99990001 189.37 3

269 kg FEIEHAF R | BIAE = 241(410327005013JC00342|  295.44/ | AckteHiy
BRI g F99990001 361.25 5

70 . %gﬂ@@ﬂ%ﬁ/ BPAE = 241(410327005013JC00343|  224.09/ | AeAteHiy
“ BRI R fipas F99990001 250.34 fE

971 pa, FIHEHAT AL | B E = 241(4103270050131C00345]  204.57/ | AAtesiy
BRI g ) F99990001 418.53 £

79 o FIEHAT ALY | B FHEL= £44(4103270050131C00347]  206.50/ | febrEHEHy
FERFTE R i) F99990001 171.6 {52

273 5 FRHAE AR | B FHE = 24 [410327005013JC00348|  214.55/ | Ay 54/
RFTE R R F99990001 205.83 3

274 Ty FIEHAT ALY | B FHE = £44(4103270050137C00349]  269.97/ | Kb sEy
BRI [Ega) F99990001 214.65 £




975 spp R FEEMAE R | BB E-= £4#(410327005013JC00350)  197.91/ | KA Ediiy
i BT L [ F99990001 323.34 fEE

276 B FIHEHAT ALY | B E = £44(4103270050131C00351]  229.05/ | feheHi
B RFTE R [Ega) F99990001 173.68 fE3

77 i FEIEHAFE R | BIAE = 241(410327005013JC00352]  370.62/ | Akt
BRI [Ega) F99990001 316.6 £

973 THE FIHEHAT ALY | B EL= £44(4103270050131C00353]  293.39/ | Kbt HEHy
B RFTE R i3] F99990001 363.14 fF8

279 o AT ALY | B0 E = 241(4103270050131C00354]  244.96/ | fhesiy
BRI [iga) F99990001 213.32 5

280 T FIEHAT R | BFHEL= £44(4103270050131C00356]  214.63/ | fbtEHEH
ERFTE R i) F99990001 273.77 {52

281 P FIHEHAT ALY | B E = £44(4103270050131C00357]  210.60/ | fbEHEHy
RFTE R R F99990001 276.71 3

282 g FEIEHAFE R | BIAE = 241(410327005013JC00358]  212.18/ | AchteHiy
BRI g F99990001 132.51 5

283 e FIHEHAT ALY | B EL= £44(4103270050131C00359]  239.67/ | febtEHEHy
B RFTE R i3] F99990001 153.88 fF8

284 A FIHEHAT ALY | B E = 241(4103270050131C00360]  211.54/ | fhtesty
BRI g ) F99990001 282.79 £

285 T FIEHAT ALY | B FHEL= £44(410327005013JC00361]  206.98/ | fehEHH
B R TR g F99990001 272.45 5

286 FoT FHEMAE R | BB E = £ 44]410327005013JC00362  210.49/ | fAd &y
DR BT AL [ F99990001 188.24 g

287 50tk FEIEHFE R | BIAE = 241(410327005013JC00364]  205.28/ | Akt Hiiy
BRI [Ega) F00010001 126.01 5

283 pn FIHEHAT AL | B EL= £44(4103270050131C00366]  206.83/ | AebEHEH
R FTE R g F99990001 291.11 {52

289 T FEIEHAT ALY | B E = 241(4103270050131C00367]  209.35/ | Aty
BRI g F99990001 140.57 £

290 ek FIEHAT R | BFHEL= £44(4103270050131C00368]  207.53/ | febtEHiHy
- B R TR g F99990001 343.2 5

201 s = 5 AL | BB B = £4#1410327005013JC00369|  209.45/ | &Rk Ediy
RFTE R R F99990001 160.89 {52

202 e FEIEHAFE R | BIAE = 241(410327005013JC00370]  214.01/ | Aht=eHy
BRI [Ega) F99990001 304.23 5

203 ek R AL | BB B = £4#410327005013JC00371|  212.34/ | RAfdiiy
e B RFTE R g F99990001 141.5 3

204 B AT ALY | B E = 241(4103270050131C00374]  217.90/ | KAesiy
BRI [iga) F99990001 306.18 £

205 [ FIEHAT R | B EL= £44(4103270050131C00375]  217.73/ | KbrEHEHy
B R TR [Ega) F99990001 267.5 £

206 s FIHEHAT ALY | B E = £44(4103270050131C00376]  213.59/ | febesi
R gl F99990001 118.09 fE3

207 - FEIEHAFE R | BIAE = 241(4103270050131C00377|  213.32/ | Achtesiy
BRI g F99990001 139.8 £

208 T FIHEHAT ALY | B EL= £44(4103270050131C00379]  211.65/ | fbtEHH
» B RFTE R g F99990001 166.6 fE

299 TR THHAE FIAY | B PHE = 2 4410327005013JC00380(  211.05/ [ A4t HEHY
BRI g ) F99990001 143.98 £

300 - FEEMAE R | BB E-= £4#]410327005013JC00381|  211.51/ | &AfEdiiy
B R TR g F99990001 135.2 5

301 KT FIHEHAT ALY | B E = £44(4103270050137C00382]  219.57/ | fehesiy
R R gl F99990001 195.98 fE3

30 T3 FEIEHAFE R | BIAE = 241(410327005013JC00384]  216.31/ | Akt
BRI [Ega) F99990001 162.04 5




303 SN FIEHAT R | B FHEL= £44(4103270050137C00385]  210.99/ | KbrEHH
B R TR g F99990001 268.21 5

304 s FEIEHAF R | BAE = £ 41(410327005013JC00386]  211.11/ | Aeht=esy
B RFTE R [Ega) F99990001 136.06 fE3

305 G FIEHAT ALY | B E = £44(4103270050137C00387|  207.83/ | Kbt HEy
- BRI [Ega) F99990001 160.58 £

306 . FIHEHAT ALY | BFHEL= £44(4103270050131C00388]  206.96/ | A EHL
B RFTE R i3] F99990001 152.53 fF8

307 o FIEHAT AL | B0 E = 2 41(4103270050131C00389]  214.95/ | KAesiy
BRI [iga) F99990001 143.75 £

308 0 FIEHAT R | B FHEL= £44(4103270050131C00390]  208.63/ | AbEHE M
ERFTE R i) F99990001 255.27 {52

300 TEF FEIEHAF R | BIAE = £ 441(410327005013JC00391]  209.10/ | Acht=eHih
B RFTE R gl F99990001 219.75 fE3

310 wTT FEIEHAFE R | BIAE = 241(410327005013JC00392|  208.13/ | Akt
BRI g F00010001 99.45 £

311 T 5 AL | BB B = £4#1410327005013JC00393  209.17/ | &AfEdiiy
B RFTE R i3] F99990001 142.66 fF8

312 T AT ALY | B0 E = 241(4103270050131C00394]  221.62/ | Aty
BRI g ) F99990001 179.6 £

313 R FIEHAT R | BFHEL= £44(4103270050137C00395]  211.86/ | AehEHH
B R TR g F99990001 170.95 £

314 e FEIEHAF R | BAE = £ 41(4103270050131C00396]  209.40/ | Akt Hiih
R R gl F99990001 96.21 fE

315 - FEIEHAF R | BIAE = 241(4103270050131C00397|  213.14/ | Aehtesiy
BRI [Ega) F99990001 270.32 £

116 - FIHEHAT ALY | B EL= £44(4103270050131C00398]  209.57/ | fehtEHEHy
= B RFTE R i3] F99990001 150.49 fF8

117 TR AT AL | B E = 241(4103270050131C00399]  213.43/ | KAresiy
. BRI g F99990001 236.09 £

318 o FIEHAT ALY | B FHEL= £44(4103270050131C00400]  209.37/ | febtEHEHy
- B R TR g F99990001 143.07 £

319 5 4 FIHEHAT ALY | B E = £44(4103270050131C00401]  208.66/ | AehtEHEH/
B RFTE R gl F99990001 164.48 fE3

130 s ppvh FEIEHFE R | BIAE = 2 41(410327005013JC00402]  208.01/ | Akt sy
BRI [Ega) F99990001 163.99 £

11 s R AL | BB B = £4#1410327005013JC00403|  212.24/ | Rk ESiy
~ B RFTE R i3] F99990001 160.21 fF8

137 i AT AL | B E = 2 41(4103270050131C00405]  213.93/ | KAresiy
BRI [iga) F99990001 214.76 £

193 B FEEMAE R | BB E-= £4#(410327005013JC00406|  223.82/ | KA Ediy
FERFTE R i) F99990001 137.25 {52

124 - FIHEHAT ALY | B E = £44(4103270050131C00407|  292.77/ | KbrESEy
R gl F99990001 205.77 fE3

125 g FEIEHAFE R | BIAE = 241(4103270050131C00408]  124.87/ | Acht=eHiy
T BRI g F99990001 90.2 5

16 gyt R AL | BB B = £4#1410327005013JC00409|  217.42/ | Rk diy
B RFTE R i3] F99990001 225.16 fF8

157 Famer FIHEHAT ALY | B E = 241(4103270050131C00410]  209.63/ | KAty
BRI g ) F99990001 169.42 5

128 T FEEMAE R | BB E-= £4#]410327005013JC00411|  206.27/ | &k Ediiy
B R TR g F99990001 53.62 £

129 i FIHEHAT ALY | B E = £44(4103270050131C00412]  206.83/ | fehteHii
R R gl F99990001 182.29 fE3

130 BUR FIEHAT ALY | B FHE = £44(4103270050131C00413]  208.56/ | AehteHE
BRI [Ega) F99990001 91.46 5




131 S BEMAE AR | B FHE = 24 (410327005013JC00414  218.15/ | AT H:H/
B R TR g F99990001 344.12 {5
132 o | TR EPEE S £ 5114103270050131C00415| 20741/ A B 2k ity
B RFTE R [Ega) F00010001 175.28 fE3
133 ey FIEHAT ALY | B FHE = £44(4103270050131C00417]  204.39/ | KAy
BRI [Ega) F99990001 248.24 5
334 mgp | EEMLBUHRY) FER = 25(14103270050131C00419) 21279/ A A
B RFTE R g F99990001 162.2 3
135 s FIEHAT ALY | B E = 2 41[4103270050131C00420]  206.78/ | KAty
BRI [iga) F99990001 133.56 £
136 TR FEEMAE R | BB E-= £4#(410327005013JC00421|  206.15/ | &AfEdiy
B R HTE R [Ega) F99990001 126.42 5
137 ok FEIEHAF R | BIAE = 2 41(4103270050131C00422|  204.45/ | Akt e sy
R FTA AL R F99990001 237.95 3
138 ok FEIEHAF R | BIAE = 241(4103270050131C00423]  322.94/ | Akt eHiy
BRI g F99990001 173.68 £
3139 5\ FIEHAT ALY | B EL = £44(4103270050131C00424]  247.59/ | Kbty
B RFTE R i3] F99990001 182.18 fF8
340 S AT AL | B E = 241(4103270050131C00425]  233.65/ | Aty
BRI g ) F00010001 76.25 £
341 gk FEEMAE R | BB = £4#(410327005013JC00426|  226.62/ | KA Ediy
B R TR g F99990001 220.87 £
342 TAE FEIEHAF R | BAE = £ 41(4103270050131C00429]  289.20/ | Akt Hiihy
R R gl F99990001 350.93 fE
343 g FIEHAT ALY | B FHE = £44(4103270050137C00430]  239.55/ | RArEsiy
BRI [Ega) F99990001 204.05 £
344 M R AL | BB = £4#1410327005013JC00431|  264.19/ | &k diy
B RFTE R i3] F99990001 252.33 fF8
345 ot AT ALY | B E = 241(4103270050131C00432]  202.39/ | KATesiy
BRI g F99990001 142.52 5
346 ey FIEHAT R | B FHEL= £44(4103270050137C00433]  200.78/ | AehEHEHy
B R TR g F00010001 117.19 £
347 THE FIHEHAT ALY | B E = £44(4103270050131C00434]  228.56/ | AehEHE
DR P [ F99990001 255.54 g
348 P FEIEHAFE R | BIAE = 2 41(4103270050131C00435]  222.75/ | Akt e sy
BRI [Ega) F99990001 362.97 £
349 ek R AL | BB B = £4#1410327005013JC00436|  232.73/ | RATESiy
B RFTE R g F99990001 151.22 3
350 o AT ALY | B E = 241(4103270050131C00438]  319.92/ | KAty
BRI [iga) F99990001 286.27 £
151 - FIEHAT ALY | BFHEL= £44(4103270050131C00439]  190.58/ | fbrEHEHy
B R TR [Ega) F00010001 100.23 £
152 o FIHEHAT ALY | B E = £44(4103270050131C00440]  193.68/ | AebeHii
R gl F00010001 262.88 fE3
153 i FEIEHAF R | BIAE = 241(4103270050131C00441]  193.11/ | Akt sy
BRI g F99990001 274.89 £
354 23007 %Js'gﬂﬁ@ﬂﬁl/ BPAE = 241(4103270050131C00442|  194.40/ | AcAt=eHi
B RFTE R i3] F99990001 366.02 fF8
355 o AT ALY | B0 E = 241(4103270050131C00443]  198.02/ | KAty
BRI g ) F99990001 342.29 5
156 it FEEMAE R | BB = £4#410327005013JC00444|  199.40/ | KAt Ediy
B R TR g F99990001 327.06 £
357 ke FEIEHAF R | BIAE = 2 41(410327005013C00446]  208.41/ | Akt Hiy
P BT AL Lol F99990001 395.4 £
158 0 R FEIEHAF R | BIAE = 241(4103270050131C00447|  204.02/ | ke Sy
BRI [Ega) F99990001 260.24 5




159 SN, FEEMAE R | BB E-= £4#(410327005013JC00450[  204.28/ | KA diy
i BT L [ F99990001 257.94 fEE

360 o FEIEHAF R | BIAE = £41(410327005013JC00451]  212.55/ | Achtesiy
- B RFTE R [Ega) F99990001 212.58 fE3

161 T FEIEHAFE R | BIAE = 241(410327005013JC00452|  198.84/ | Akt Hiy
- BRI [Ega) F99990001 306.15 £

16 Kb R AL | BB = £4#1410327005013JC00453|  151.77/ | R diiy
B RFTE R i3] F99990001 237.23 fF8

363 S FIEHAT ALY | B0 E = 241(4103270050131C00454]  101.51/ | KAresiy
BRI [iga) F99990001 158.15 £

164 e FEEMAE R | BB = £4#(410327005013JC00455  101.75/ | &k ediy
) i BT L [ F99990001 141.34 EE

365 50 FIHEHAT ALY | B E = £44(4103270050131C00456]  102.75/ | febesi
- 55 B AT AL (i) F00010001 411 £

266 T FIEHAT AL | B FHE = £44(4103270050131C00457]  117.56/ | Rebiesi
BRI g F00010001 352.68 £

167 - FIHEHAT ALY | B EL= £44(4103270050131C00458]  114.99/ | fbrEHH
B RFTE R i3] F00010001 114.99 fF8

368 - AT ALY | B E = 241(4103270050131C00459]  149.57/ | KAresiy
BRI g ) F00010001 299.14 5

169 MES FIEHAT ALY | B FHEL= £44(4103270050131C00460]  146.78/ | AehtEHEH
i BT L [ F00010001 402.24 EE

370 o FEIEHAF R | BIAE = £ 41(4103270050131C00461]  147.16/ | Ackt=esiy
R R gl F00010001 455.39 fE

171 o FIEHAT ALY | B FHE = £44(4103270050137C00462|  148.89/ | fbEHEH
- BRI [Ega) F00010001 439.84 £

179 e R AL | BB = £4#1410327005013JC00464|  154.56/ | AT diy
e B RFTE R i3] F00010001 443.09 fF8

373 HRE FIEHAT ALY | B E = 241(4103270050131C00465]  189.31/ | KAty
i BRI g F00010001 567.93 £

374 YR FIEHAT R | B EL= £44(4103270050131C00466]  177.95/ | AehtEHEH
B R TR g F00010001 254.62 5

375 ke BT AR | B FHE = £4[410327005013JC00469  123.82/ | AT EH:Hh/
DR P [ F00010001 247.64 g

176 R FEIEHAFE R | BIAE = 241(4103270050131C00470]  201.54/ | Acht=eHy
BRI [Ega) F00010001 569.94 £

377 HrE AT ALY | B EL= £44(4103270050131C00471]  129.36/ | AebtEHEHy
B RFTE R i3] F00010001 258.72 fF8

378 B AT ALY | B E = 241(4103270050131C00472]  66.01/ | KAresiy
BRI [iga) F00010001 123.92 5

379 o FEEMAE R | BB = £4#]410327005013JC00475  136.13/ | KA Ediy
i BT L [ F99990001 279.64 £

180 B FEIEHAF R | BAE = £ 41(4103270050131C00476]  121.85/ | Ackt=eHiiy
R gl F99990001 388.47 fE3

181 R FEIEHAF R | IR = 241(4103270050131C00479]  182.14/ | Akt Hiy
BRI g F00010001 183.75 £

182 T FIHEHAT ALY | B EL= £44(4103270050131C00481]  266.79/ | febtEHEH
B RFTE R i3] F99990001 365.73 fF8

183 - AT ALY | B E = 241(4103270050131C00482]  215.45/ | Khesiy
= R AT A i) F00010001 240.82 3

184 T FEEMAE R | BB E-= £4#(410327005013JC00483|  224.13/ | KA Ediy
B R TR g F00010001 448.26 £

185 5 FIHEHAT ALY | B E = £44(4103270050131C00484]  250.56/ | Aehte S
R R gl F99990001 451.63 fE3

186 W FEIEHAFE R | BIAE = 2 41(4103270050131C00485]  260.27/ | Akt Hy
7N BRI [Ega) F99990001 299.55 £




187 T FEEMAE R | BB = £4#410327005013JC00486|  133.81/ | KA diiy
i BT L [ F00010001 260.34 fEE
388 s FIEHAT ALY | B E = £44(4103270050131C00487]  132.69/ | fehte S
B RFTE R [Ega) F00010001 238.57 fE3
189 B FIEHAT ALY | B FHE = £44(4103270050137C00488]  135.35/ | RAtEHiy
BRI [Ega) F00010001 210.36 £
190 - R AL | BB = £4#1410327005013JC00489|  139.23/ | &Rkt diiy
B RFTE R i3] F00010001 225.42 fF8
191 . FIHEHAT ALY | B E = 2 41[4103270050131C00490]  135.60/ | KAty
BRI [iga) F00010001 208.18 £
197 S FIEHAT R | B FHEL= £44(4103270050137C00491]  133.00/ | KbrEHEHy
B R HTE R [Ega) F00010001 204.5 5
393 U, FIHEHAT ALY | B E = £44(4103270050131C00492]  87.83/ | KhEHiiy
B RFTE R gl F00010001 167.47 fE3
304 T FIEHAT ALY | B FHE = £44(4103270050137C00493]  132.73/ | RArEHEHy
BRI g F00010001 205.34 £
195 5 FIHEHAT ALY | B EL= £44(4103270050131C00494]  146.86/ | AehEHEHy
B RFTE R i3] F00010001 141.86 fF8
296 SEE AT ALY | B0 E = 241(4103270050131C00497]  137.18/ | KAesiy
BRI g ) F00010001 397.19 £
197 KT FEEMAE R | BB = £4#]410327005013JC00498|  128.24/ | Aty
B R TR g F00010001 347.45 5
398 — FEIEHAF R | BAE = £ 41(4103270050131C00499]  201.01/ | Acht=eHiy
R R gl F00010001 394.57 fE
199 — FIEHAT ALY | B FHE = £44(4103270050137C00501]  139.08/ | RAEHEy
BRI [Ega) F99990001 386.79 £
400 5 b FIHEHAT ALY | B EL= £44(4103270050131C00506]  279.83/ | AehEHE
B RFTE R i3] F99990001 369.94 fF8
401 i FIEHAT ALY | B E = 2 41(4103270050131C00507]  142.98/ | KAesiy
BRI g F00010001 207.02 £
402 g FEEMAE R | BB E-= £4#410327005013JC00508|  291.89/ | A&kt diiy
i BT L il F99990001 342.4 £
403 fLzT5 FIHEHAT ALY | B E = £44(4103270050131C00509]  298.39/ | KbEHi
B RFTE R gl F99990001 358.37 fE3
404 S FIEHAT ALY | B FHE = £44(4103270050131C00510]  264.77/ | Rebresiy
BRI [Ega) F99990001 342.76 £
405 T FIHEHAT ALY | BFHEL= £44(4103270050131C00512]  218.39/ | fbrEHiy
B RFTE R i3] F99990001 310.58 fF8
406 250k FIEHAT AL | B E = 241(4103270050131C00513]  219.73/ | KAresiy
BRI [iga) F99990001 305.74 £
407 e FEEMAE R | BB E-= £4#(410327005013JC00514  223.15/ | KAt ediiy
B R TR [Ega) F99990001 305.49 £
408 B FIHEHAT ALY | B E = £44(4103270050131C00515]  218.96/ | AehteHii
R gl F99990001 306.32 fE3
409 i FIEHAT ALY | B E = £44(4103270050137C00517]  223.88/ | fbEHiy
BRI g F99990001 287.17 £
410 P %gﬂ@@ﬂ%ﬁ/ BPAE = 241(410327005013JC00518]  349.32/ | Akt Hiiy
B RFTE R i3] F00010001 221.56 fF8
Al B AT ALY | B E = 241(4103270050131C00538]  172.79/ | Khesiy
BRI g ) F00010001 490.68 £
412 T FEEMAE R | BB E-= £4#]410327005013JC00542  172.52/ | &Rk ediiy
FERFTE R i) F00010001 517.56 {52
413 P FEIEHAF R | BIAE = £ 41(4103270050131C00543]  142.03/ | Aehtesiy
R R gl F00010001 254.07 fE3
414 5 FIEHAT ALY | B FHE = £44(4103270050131C00544]  139.83/ | Kb Hiy
BRI [Ega) F99990001 350.53 £




415 TR FIEHAT ALY | B FHEL= £44(4103270050131C00545]  144.66/ | febtEHEH
i BT L [ F99990001 355.64 fEE

416 o FEIEHAF R | BAE = £ 41(410327005013JC00546]  206.18/ | Akt H i
B RFTE R [Ega) F99990001 529.71 fE3

417 5k FIEHAT ALY | B E = £44(4103270050137C00547]  203.35/ | RSy
BRI [Ega) F99990001 522.01 5

418 e BRI | B FHE = 24 (410327005013JC00548(  70.22/ | AT E R A/
- B RFTE R g F00010001 210.66 fE

419 2 LI IR | 2 BHEL = £ 41(410327005013JC00552(  49.84/ | KA EH:H/
BRI [iga) F99990001 114.72 5

40 B, FEEMAE R | BB E-= £4#410327005013JC00553|  194.30/ | &RAfEdiy
- B R HTE R [Ega) F99990001 256.78 £

121 ot FEIEHAF R | BAE = £ 41(4103270050131C00554]  124.93/ | Aktesiy
B RFTE R gl F99990001 170.75 fE3

47 P FEIEHAFE R | BIAE = 241(4103270050131C00559]  202.12/ | Akt
BRI g F99990001 317.4 5

423 LA R AL | BB B = £4#1410327005013JC00562  101.55/ | RAfdiy
e B RFTE R i3] F00010001 203.1 fF8

424 TR BT B | B FHE = 241 [410327005013JC00563  152.55/ | At 5t/
BRI g ) F00010001 457.65 £

425 o FIEHAT ALY | B FHEL= £44(4103270050131C00564]  150.98/ | febEHH
B R TR g F00010001 301.96 £

6 S FEIEHAF R | BIAE = £ 41(4103270050131C00566]  101.92/ | Acht=eHihy
R FTA AL R F00010001 305.76 3

47 s FEIEHAFE R | BIAE = 241(4103270050131C00567|  151.45/ | Acht=esiy
BRI [Ega) F00010001 45435 £

43 THa R AL | BB B = £4#1410327005013JC00568|  153.11/ | RAfdiiy
= B RFTE R i3] F00010001 306.22 fF8

49 o FIHEHAT ALY | B E = 241[4103270050131C00575]  102.38/ | KAty
BRI g F00010001 204.76 £

430 e FEEMAE R | BB E-= £4#]410327005013JC00577|  201.73/ | &Afsiy
- B R TR g F99990001 438.51 £

431 ToE FEIEHAF R | BAE = £ 41(4103270050131C00578]  104.10/ | Akt Hih/
B RFTE R gl F00010001 228.36 fE3

432 LTI FIEHAT ALY | B FHE = £44(4103270050137C00582]  103.66/ | AehtEHE
= BRI [Ega) F00010001 207.32 £

433 EE 5 AL | BB B = £4#1410327005013JC00583|  102.97/ | &k Ediy
B RFTE R i3] F00010001 205.94 fF8

434 T AT ALY | B E = 241(4103270050131C00584]  154.03/ | KAty
BRI [iga) F00010001 462.09 £

435 T FEEMAE R | BB = £4#(410327005013JC00587  201.27/ | &AfEdiy
B R TR [Ega) F00010001 603.81 £

436 B FIHEHAT ALY | B E = £44(4103270050131C00589]  99.41/ | KbrEHEHy
R gl F00010001 198.82 fE3

437 e FIEHAT ALY | B FHE = £44(4103270050131C00590]  157.76/ | AeheHiy
- R ATE AL iy F99990001 258.65 5

438 2k 5 BT B | B FHE = 24 [410327005013JC00591(  380.90/ | A4y B/
= B RFTE R i3] F00010001 947.25 fF8

439 HER AT ALY | B E = 241(4103270050131C00599]  93.39/ | KAty
BRI g ) F00010001 25.61 5

440 N FEEMAE ALY | BB E-= £4#410327005013JC00601|  340.92/ | &k Ediy
B R TR g F99990001 207.36 £

441 b FIHEHAT ALY | B E = £44(4103270050131C00602]  279.93/ | AebEHiy
1 B R TR P F99990001 76.47 B

44 TEm FEIEHAFE R | BIAE = 241(410327005013JC00603|  228.44/ | AckteHiy
= BRI [Ega) F00010001 37.95 £




443 A FIEHAT ALY | B FHE = £ 44 (4103270050131C00604]  172.80/ Mﬁ%%m/
i =BT L [Tl F99990001 99.84 Fe

444 G4t =5 AL | BB = £4#1410327005013JC00605  313.25/ | KA diiy
B RFTE R [Ega) F99990001 129.9 fE3

445 o FEIEHAFE R | BIAE = 2 41(4103270050131C00606]  192.43/ | AchteHy
- BRI [Ega) F00010001 24.13 5

446 g FIHEHAT AL | B EL= £44(4103270050131C00608]  227.38/ | AehtEHEHy
= B RFTE R i3] F99990001 136.35 fF8

47 ik FIEHAT ALY | B E = 2 41(4103270050131C00610]  193.28/ | KAty
BRI [iga) F99990001 121.47 5

443 ey FEEMAE R | BB = £4#(410327005013JC00615|  217.92/ | &k ediiy
- B R HTE R [Ega) F00010001 76.6 £

449 . FIHEHAT ALY | B E = £44(4103270050131C00617|  332.73/ | febesii
B RFTE R gl F99990001 175.8 fE3

450 5 FIEHAT ALY | B FHE = £44(4103270050131C00618]  193.30/ | RATEHEHy
BRI g F00010001 26.57 £

451 . FIHEHAT ALY | TP EL= £44(4103270050131C00619]  119.36/ | febtEHH
B RFTE R i3] F99990001 78.26 fF8

452 T FIHEHAT ALY | B E = 2 41[4103270050131C00620]  249.68/ | KAt
BRI g ) F99990001 219.73 £

453 B FEEMAE R | BB = £4#]410327005013JC00621|  310.88/ | &AfEdiiy
B R TR g F99990001 335.15 £

454 s FEIEHAF R | BIAE = £ 41(4103270050131C00622|  277.15/ | Aektesiy
DR BT AL [ F99990001 315.14 g

455 R FEIEHAFE R | BIAE = 241(410327005013JC00623|  456.42/ | Achtesiy
BRI [Ega) F99990001 280.46 £

456 gy 5 AL | BB = £4#1410327005013JC00624|  262.97/ | &k Esiy
B RFTE R i3] F99990001 152.93 fF8

457 o AT ALY | B E = 241[4103270050131C00625]  216.45/ | fbtesiy
= BRI g F00010001 265.62 £

453 TN FEEMAE R | BB = £4#410327005013JC00626|  253.48/ | KA Ediy
= B R TR g F99990001 139.16 £

459 Tk FEIEHAF R | BIAE = £41(4103270050131C00627|  213.46/ | Acktesiy
= B RFTE R gl F99990001 94.96 fE3

460 5 FEIEHFE R | BIAE = 2 41(4103270050131C00678|  454.17/ | Achte sy
& BRI [Ega) F99990001 220.19 £

461 T FIHEHAT AL | B EL= £44(4103270050131C00680]  223.65/ | AehEHE
= B RFTE R i3] F00010001 70.53 fF8

462 KT FIEHAT ALY | B E = 2 41[4103270050131C00696]  153.63/ | Attty
BRI [iga) F99990001 108.24 5

463 S FIEHAT R | B FHEL= £44(4103270050131C00697|  178.55/ | AebtEHEHy
B R TR [Ega) F99990001 83.93 £

464 N FEIEHAF R | BAE = £ 41(4103270050131C00698]  240.11/ | Acht=eHiy
P BT AL Lol F99990001 78.34 £

465 EEN FIEHAT ALY | BB = £44(4103270050131C00700]  136.07/ | KAy
BRI g F99990001 63.43 £

166 o %gﬂ@@ﬂ%ﬁ/ BPAE = 241(410327005013JC00701|  124.38/ | Akt Hiy
“ B RFTE R g F99990001 91.16 2

467 e FEIEHAT AL | B E = 241(4103270050131C00703]  320.90/ | KATEsiy
= BRI g ) F00010001 68.34 £

463 T FIEHAT ALY | B FHEL= £44(4103270050131C00704]  295.75/ | AebtEHEHy
’ FERFTE R i) F99990001 130.38 5

469 i FEIEHAF R | BAE = £ 41(4103270050131C00705|  278.16/ | Ackt=eHiiy
RFTE R R F99990001 129.01 3

470 WL FIEHAT ALY | B E = £44(4103270050131C00707]  262.30/ | KAy
BRI [Ega) F99990001 56.84 £




471 B FEEMAE R | BB = £4#(410327005013JC00708|  177.47/ | &k diy
- 7 R T AL Tkt F99990001 73.67 fE

47 gy | TR EPEE = 2 5114103270050131C00710f 21134/ A B 2k ity
B RFTE R [Ega) F99990001 74.11 fE3

473 i FIEHAT ALY | B FHE = £44(4103270050131C00711]  227.05/ | KAy
BRI [Ega) F00010001 59.38 £

474 e 5 AL | BB = £4#1410327005013JC00712  208.84/ | A&kt Ediy
4 B RFTE R i3] F00010001 69.57 fF8

475 ) AT ALY | B0 E = 2 41(4103270050131C00713]  454.62/ | Aty
BRI [iga) F00010001 355.18 £

476 o FEEMAE R | BB E-= £4#(410327005013JC00714|  349.00/ | &k diy
- B R HTE R [Ega) F00010001 101.13 5

477 S FEIEHAF R | BIAE = £41(4103270050131C00715]  236.23/ | Achtesiy
B RFTE R gl F00010001 76.66 fE3

473 ik FEIEHAFE R | BIAE = 241(4103270050131C00716]  343.72/ | Achte sy
BRI g F00010001 120.92 5

479 i R AL | BB B = £4#1410327005013JC00717  274.07/ | &Akfdiiy
~ B RFTE R i3] F99990001 162.8 fF8

480 TEHT FIEHAT ALY | B E = 241(4103270050131C00718]  119.46/ | Aty
BRI g ) F00010001 45.81 5

481 P FEEMAE R | BB = £4#(410327005013JC00719|  106.28/ | A&kt sty
B R TR g F00010001 40.72 5

A% A FIHEHAT ALY | B E = £44(4103270050131C00729]  447.38/ | AebieHiy
R R gl F99990001 204.62 fE

483 KEL FEIEHAFE R | BIAE = 2 41(4103270050131C00730|  414.56/ | Achte sy
BRI [Ega) F99990001 96.97 £

484 o EIHAEFIAY | B FHE = £ 41410327005013JC00733(  194.57/ | KA My
B RFTE R i3] F00010001 116.69 fF8

485 spn AT ALY | B E = 241(4103270050131C00734]  248.09/ | KAty
N BRI g F99990001 167.87 £

436 Lk FEEMAE R | BB = £4#410327005013JC00735  195.01/ | KA diy
- B R TR g F99990001 46.55 £

487 Kb FEIEHAF R | BAE = £ 441(4103270050131C00738]  278.10/ | Akt Hih/
B RFTE R gl F99990001 69.33 fE3

483 ST FIEHAT ALY | B FHE = £44(4103270050131C00740]  268.55/ | Aehesiy
BRI [Ega) F99990001 119.8 £

489 g FIHEHAT AL | B EL= £44(4103270050131C00741]  283.39/ | KbrEHEHy
B RFTE R i3] F00010001 80.55 fF8

| BEHAE A | B E = 2 41[4103270050131C00742]  258.25/ | ATy
40 1 BEE | ik F00010001 67.7 e

491 . FEEMAE R | BB E-= £4#]410327005013JC00743|  285.02/ | A&k diy
B R TR [Ega) F00010001 99.59 £

492 . FEIEHAF R | BAE = £ 41(4103270050131C00744]  264.62/ | Akt Hiy
P BT AL Lol F00010001 61.54 £

493 0 FEIEHAFE R | BIAE = 241(4103270050131C00745|  313.42/ | Acktesiy
- BRI g F99990001 142.19 5

494 Tk FIHEHAT ALY | B EL= £44(4103270050131C00746]  450.65/ | AehE S
B RFTE R i3] F99990001 279.46 fF8

495 - FIEHAT ALY | B E = 241(4103270050131C00747]  400.02/ | fATesiy
BRI g ) F99990001 211.13 5

496 s FEEMAE R | BB E-= £4#]410327005013JC00748|  418.32/ | KA Ediiy
B R TR g F00010001 110.29 £

497 e FEIEHAF R | BAE = £ 41(4103270050131C00750]  169.64/ | Akt Fih/
R R gl F99990001 71.12 fE3

403 PR, FEIEHAFE R | BIAE = 241(410327005013JC00751]  291.42/ | Acht=esiy
BRI [Ega) F99990001 183.05 £




499 FRR FEEMAE R | BB = £4#(410327005013JC00752  214.52/ | Rk ediiy
o ERTE N i F99990001 241.48 1

500 L FEIEHAF R | BAE = £41(4103270050131C00753]  328.18/ | AckteHiiy
B RFTE R [Ega) F99990001 141.55 fE3

501 TaE FEIEHAFE R | BIAE = 241(4103270050131C00754]  345.25/ | Acktesiy
BRI [Ega) F99990001 251.09 £

502 FH FIHEHAT ALY | B EL= £44(4103270050131C00755]  273.33/ | fbrESEHy
= B RFTE R i3] F99990001 188.34 fF8

503 T AT ALY | B E = 2 41(4103270050131C00756]  285.31/ | KAty
BRI [iga) F00010001 106.85 £

504 TAF FIEHAT R | B FHEL= £44(4103270050131C00757|  443.56/ | AebtEHEHy
” FBIRFTE L [iil5) F00010001 40 £

505 Gy FIHEHAT ALY | B E = £44(4103270050131C00758]  217.83/ | AeheHii
B RFTE R gl F99990001 173.22 fE3

506 ST FEIEHAF R | BIAE = 241(4103270050131C00759]  211.74/ | Akt
BRI g F99990001 127.96 £

507 — 5 AL | BB B = £4#1410327005013JC00760  229.74/ | ARk Ediy
B RFTE R i3] F99990001 195.41 fF8

508 P FIHEHAT ALY | B E = 241(4103270050131C00761]  206.23/ | fpesiiy
BRI g ) F99990001 177.24 {52

500 PRy FEEMAE R | BB = £4#]410327005013JC00762  323.98/ | KAty
B R TR g F99990001 79.38 £

510 TR FIHEHAT ALY | B E = £44(4103270050131C00770]  327.87/ | AhtESEHy
RFTE R gl F99990001 140.81 {52

511 T FEEMAE ALY | BB = £4#410327005013JC00771|  164.26/ | A&k EHiy
- BRI [Ega) F99990001 105.17 £

510 oy | EEEBMEABU) EPEE = 2 5114103270050131C00789| 18971/ A A
- R FTE R g F99990001 145.55 fE

513 AR FIEHAT ALY | B E = 2 41(4103270050131C00790]  459.29/ | KAty
BRI g F99990001 193.78 £

514 T FEEMAE R | BB = £4#(410327005013JC00791|  174.12/ | RAfdiy
= B R TR g F99990001 88.35 £

515 Tem FEIEHAF R | BAE = £ 41(4103270050131C00792  246.92/ | Akt Hiy
RFTE R gl F99990001 362.12 {52

516 20 FIEHAT ALY | B E = £44(4103270050131C00794]  237.59/ | KAty
- BRI [Ega) F99990001 43.34 5

517 B 5 AL | BB B = £4#1410327005013JC00795  330.28/ | KA Ediy
B RFTE R g F99990001 172.02 3

518 Gt AT AL | B E = 241(4103270050137C00812]  239.65/ | KAty
BRI [iga) F99990001 171.89 £

519 5 41 FEEMAE R | BB E-= £4#(410327005013JC00813|  239.14/ | KAt diy
" B R TR [Ega) F99990001 314.03 £

530 B FIHEHAT ALY | B E = £44(4103270050131C00814]  516.96/ | AebeHii/
R gl F99990001 361.5 fE3

31 Tl FIEHAT ALY | B FHE = £44(4103270050131C00816]  322.78/ | Kb Hiy
BRI g F99990001 246.68 £

529 T FIHEHAT ALY | B EL= £44(4103270050131C00817|  446.93/ | fbrEHEHy
B RFTE R i3] F00010001 286.66 fF8

523 M AT AL | B E = 241(4103270050131C00818]  267.62/ | Attty
BRI g ) F99990001 277.54 £

524 50 FIEHAT ALY | B FHEL= £44(4103270050137C00820]  229.76/ | AehE S
- FERFTE R g F00010001 49.46 {52

595 . FIHEHAT ALY | B E = £44(4103270050137C00821]  372.33/ | febiesiy
R R gl F99990001 232.18 fE3

536 Kt FIEHAT ALY | B FHE = £44(4103270050137C00822]  249.68/ | Kb HEHy
¢ R ATE AL iy F99990001 120.99 5




57 Eve. FIEHAT ALY | BFHEL= £44(4103270050137C00825]  238.39/ | fbtEHLHy
= 55 B A L [iER) F99990001 159.5 {52

528 Ean FIHEHAT ALY | B E = £44(4103270050137C00827|  349.88/ | AehtEHi
B RFTE R [Ega) F99990001 107.69 fE3

539 o FEIEHAFE R | BIAE = 241(410327005013JC00828]  202.51/ | Akt sy
BRI [Ega) F99990001 121.55 £

530 T R AL | BB = £4#410327005013JC00829|  543.35/ | &RAfdiy
B RFTE R i3] F99990001 483.79 fF8

531 i FIHEHAT ALY | B E = 2 41(4103270050131C00830]  267.22/ | KAty
BRI [iga) F99990001 121.37 £

53 TR FEEMAE R | BB E-= £4#(410327005013JC00835  302.11/ | KA Ediiy
ERFTE R [Ega) F99990001 312.96 {52

533 oy | EEMEARU) EPEE = 2 5114103270050131C00836|  253.78/ A B 2k ity
- s R L5} F99990001 178.24 FE

534 Eyys FIEHAT ALY | B FHE = £44(4103270050137C00837|  461.68/ | fbEsi
= E BRI g F99990001 190.94 £

535 4 R AL | BB = £4#1410327005013JC00840(  222.49/ | KA Esiy
73 R FTE R g F99990001 113.56 fE

536 o FIEHAT ALY | B0 E = 241(4103270050131C00841]  425.26/ | Aty
BRI g ) F99990001 442.04 {52

537 HR FIEHAT ALY | BFHEL= £44(4103270050131C00844]  369.63/ | AehtEHEH
’ B R TR g F99990001 216.16 £

538 T =5 AL | BB B = £4#1410327005013JC00845  296.29/ | A&k Ediy
B R TR P F99990001 115 B

539 L FEIEHAFE R | BIAE = 2 41(4103270050131C00846]  280.72/ | Akt Hiy
¢ R ATE AL iy F99990001 345.4 fE

540 . 5 AL | BB B = £4#1410327005013JC00847|  404.60/ | RAf Sy
B RFTE R i3] F99990001 158.51 fF8

541 S AT ALY | B0 E = 241(4103270050131C00848]  275.22/ | KAty
e BRI g F99990001 365.77 £

54 L FEEMAE R | BB E-= £4#410327005013JC00849|  231.76/ | KA Ediy
= B R TR g F99990001 176.53 £

543 Gt FIHEHAT ALY | B E = £44(4103270050131C00855]  433.99/ | KbeHiy
B R R P F99990001 496 B

544 el FEIEHAFE ALY | BIAE = 241(410327005013JC00856]  212.94/ | Akt Hiy
BRI [Ega) F00010001 120.22 {53

545 gt FIHEHAT ALY | B EL= £44(4103270050131C00857|  255.57/ | AehtEHEHy
B RFTE R i3] F99990001 183.95 fF8

546 BT FIEHAT ALY | B E = 2 41[4103270050131C00858]  440.50/ | Aty
BRI [iga) F99990001 409.39 £

547 G FIEHAT R | B FHEL= £44(4103270050131C00859]  419.07/ | fbrEHHy
= B R TR [Ega) F99990001 407.96 £

548 e FEIEHAF R | BAE = £ 41(4103270050131C00860]  414.32/ | Akt Hiiy
d 5 R A AL [l E) F99990001 160.92 £

549 T FEIEHAF R | BIAE = 241(4103270050131C00862|  242.72/ | Akt Hiy
BRI g F99990001 262.31 5

550 e %Js'gﬂﬁ@ﬂﬁl/ T PHEL= £ 4#]4103270050131C00863|  264.78/ | AT E I
B RFTE R i3] F99990001 122.85 fF8

551 S AT ALY | B E = 241(4103270050131C00864]  360.40/ | ATty
BRI g ) F99990001 238.43 £

552 T FIEHAT ALY | B FHEL= £44(4103270050131C00865]  222.80/ | AbEHE My
o FERFTE R g F99990001 169.67 {52

553 AR FIHEHAT ALY | B E = £44(4103270050131C00866]  206.85/ | AehtE S
RFTE R gl F99990001 118.67 {52

554 s FEIEHAFE R | BIAE = 241(4103270050131C00867|  282.31/ | Ackt=eHiy
A BRI [Ega) F99990001 382.92 5




555 T IR | B0 = 248 410327005013JC00870(  248.45/ | KA EHEH/
B R TR g F00010001 127.78 £

556 a5 BT AR | 2 FHE = 24 [410327005013JC00871[  326.08/ | AAy EH:Hh/
7 B RFTE R [Ega) F00010001 398.05 fE3

557 e FIEHAT ALY | B FHE = £44(4103270050131C00905]  192.25/ | Kb siy
BRI [Ega) F99990001 479.35 £

558 P FIHEHAT ALY | B FHEL= £44(4103270050131C00906]  188.33/ | fehEHEH
B RFTE R i3] F99990001 443.93 fF8

550 P FIHEHAT ALY | B E = 2 41(4103270050131C00907]  191.95/ | &besiy
BRI [iga) F99990001 462.4 {52

560 ey FEEMAE R | BB E-= £4#(410327005013JC00908|  191.94/ | KAt sty
B R HTE R [Ega) F99990001 459.5 £

561 i FIHEHAT ALY | B E = £44(4103270050131C00909]  199.99/ | Kb HE
B RFTE R gl F99990001 306.3 fE3

562 T FIEHAT AL | B FHE = £44(4103270050131C00910]  202.99/ | KAy
BRI g F00010001 608.97 £

563 TEE FIHEHAT ALY | B EL= £44(4103270050131C00915]  290.57/ | febtEHEy
B RFTE R i3] F99990001 218.2 fF8

s64 RPN FIEHAT ALY | B E = 241(4103270050131C00916]  291.09/ | KAty
BRI g ) F00010001 103.48 £

565 2 FEEMAE R | BB = £4#]410327005013JC00919|  325.57/ | &Afediiy
o B R TR g F00010001 113.4 {52

566 - FIHEHAT ALY | B E = £44(4103270050131C00920]  227.08/ | AbiEHLHy
R R gl F99990001 306.22 fE

567 g FIEHAT ALY | B FHE = £44(4103270050137C00922|  213.85/ | RbEsiy
S RFTERL [ii5) F00010001 60.6 £

568 TR FIHEHAT ALY | B EL= £44(4103270050131C00925]  278.06/ | AehEHL
B RFTE R i3] F99990001 170.07 fF8

569 EoE AT ALY | B E = 241[4103270050131C00929]  196.50/ | A Atesty
BRI g F99990001 54.66 £

570 it FEEMAE R | BB = £4#]410327005013JC00932  223.16/ | KA Ediy
B R TR g F00010001 23.88 £

571 - FEIEHAF R | BIAE = £41(4103270050131C00940|  37.32/ | AkteSiy
B RFTE R gl F00010001 23.71 fE3

579 g FIEHAT ALY | B FHE = £44(4103270050131C00946]  220.87/ | fbEHEy
BRI [Ega) F99990001 108.09 £

573 S R AL | BB B = £4#1410327005013JC00948|  327.69/ | A Ediy
- B RFTE R i3] F99990001 317.72 fF8

574 o~ AT ALY | B E = 2 41[4103270050131C00949]  267.35/ | Aty
BRI [iga) F99990001 204.54 5

575 P FIEHAT R | B EL= £44(4103270050131C00953]  35.97/ | KbrEHEEHy
" B R TR [Ega) F00010001 35.97 £

576 Sk FIHEHAT ALY | B E = £44(4103270050131C00954]  254.80/ | Aehe S
R gl F99990001 149.82 fE3

577 i FIEHAT ALY | B FHE = £44(4103270050131C00955]  329.60/ | bt HE
BRI g F99990001 100.34 £

578 T 5 AL | BB B = £4#1410327005013JC00956|  184.84/ | kAt diy
R B RFTE R g F00010001 64.89 fE

579 ST FIEHAT ALY | B E = 241[4103270050131C00961]  257.63/ | KAty
BRI g ) F99990001 284.06 £

580 T FIEHAT ALY | B FHEL= £44(4103270050131C00963]  138.60/ | AehtE S
B R TR g F00010001 166.11 {52

581 gt FEIEHAF R | BAE = 2 41(4103270050131C00965|  286.84/ | Akt Hiih
R R gl F99990001 318.76 fE3

582 . FEIEHAFE R | BIAE = 241(4103270050131C00966]  248.71/ | Akt sy
- BRI [Ega) F00010001 117.63 £




583 appre | CIEBMEMGY] FIHR = 4] 4103270050131C009701 234007 | #H £ 0 H,

s A | 7

B K Tk FO0010001 127.06 e

- oy EAEEAEF B | TT0H B = £ 51 410327005013JC00971 | 273.00/ | 24 Shis
e Ji; IR fi 4 it F00010001 48 FE

585 Fae | CERMAR| tomE = £ 6 4103270050131C00973 | 21600/ | Fi ks
A 17 BT 6 K+ FOO010001 55.57 fs

586 IR EREH A | fP0 B = % 81 410327005013JC00974 | 80.06/ | ok 1ty
- i R 7 F00010001 33.16 ik s

. - EREHAE R | P1PH £ = £ H{] 410327005013JC00975 | 13831/ | okt iidy
B JR AT B i} F00010001 393.02 e

<88 B THHAL AR | BB = £ 4] 410327005013JC00978 | 202,40/ | 424 & dishy
: 5 B AT R it F00010001 130.15 £

5 i THRHAE Y | R = £ 4i[ 410327005013JC00980 | 223.13/ | Zkf -2 R/
B R i ik £99990001 339.78 FE

590 PRILVE CHMEMEY | 176 5L = % 4| 4103270050131C00985 | 236.80/ | F A E MHb/
. 13 & A KL Faft F00010001 35.34 e

so1 | mpg | EEEEAR]mme = gm]403270050130c00986 | 33187 | AR IRy
e BRFA L 7 F00010001 106.35 e

;i ey | TEBAETIBY | f1pH R = £ 5[ 410327005013)C00987 | 173.01/ | RAE R
RETE R 4 F99990001 214.28 €

<o aqyp | TR | gt = 241 4103270050131C00988| 29025/ | 4 E iy
BRI FE A F00010001 60.88 {EE

= wxr | EEMARR| EmE = 24 410327005013C00980 | 20564/ | A K E K
, R R Fikd FO0010001 298.8 T

e gt | EEBMABY iR = 2] 4103270050135C00990 [ 203.73/ | # b E M
; JR R R4 KL 7 £ F99990001 301.55 EE

. - ERE B | IR = 241 410327005013JC00991 | 204.34/ | AT E AL/
Kl R R i 41 F00010001 140.94 (£

. sy | CEMAMAIRY| fRE = 240 4103270050135C00992| 24391/ | A M
Al R R Gt al F99990001 85.73 e

e gy | BRI | A= 4] 4103270050131C00993 | 20635/ | 4k TR
- ERFER A F00010001 309.58 R

s P TR | 5HE = £ 41| 410327005013]C00994 | 204.08/ | A AT ey
& =2 B2 R A KL At F99990001 180.63 e

" e | CISRMEARYHMEA= 26 4103270050135C00995 | 203.19/ | REEREM
BRIFE R it F99990001 243.53 £

o agp | EREBEALY) RE =S4 4103270050131C00996 | 20055/ | R Ry
K EEE R i A F99990001 276.39 FE

i P ERMEFABY | fLHE = 245 410327005013)JC01000|  55.51/ | RAFEHEEHY
P Tkt F99990001 135.73 e

s oy | CERMAE| e = 4 4] a103270050131C01001 | 25916/ | A A EE R
= BRI ik FO0010001 518.32 EE

604 Tt CIHEME AR | frpHE = £ 81| 410327005013JC01002 | 236.50/ | RAFERHY
- BRI Tkt F99990001 216.15 e

o i | TS| EE = 54 4103270050131C01003 | 18691/ | K HE I
L BRI L5t F00010001 148.28 fE
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